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The set up helow represent a phasiological frog
then maineaned at 35°C, for 30 minutes,

aj Record your ebservations
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) Lxplamn the observations made in (a) above,

) MName the

wocess that took place in the boiling tube.

b State the role of the process in indusiries,

3] Acdre s of the content in ithe boiling tube
cbservation showed that (here were
Name the tvpe of a sexual reproc

daughier cells.
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( 2 tucg)

255 the sel up was placed in awater. Bath

gt i ‘!‘“{) Fet

( 2 mks)
{1 mk)

many yeast daughter cells
Tuction that Jead to the production of the
{ 1 mk)

were placed on the mictoscope and the



S Why was the emperaturs of water batldmainiained at 35°C {1 mk

Name the. pllyvolog_mal plmcbs l)y Whn,h g,a.b gxch(lngﬂu takes place ur the respiratory
surface in animals and plants. ‘ ( 1 mhks)

hj Mame the feal tissue of a tereestiial plant which is primarily rosonsible Too IHE
xehanpe, | 4 1IH &
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staie and explain tie twe major problems weeestial plaa Live o overcome wit

li

relation w respivatory surfaces. { b niden

i) Explain two roles of respiration ( 21mks)
State two ways in which the lymphatic system is functionally importany, to humans.
' ( 2 mks}



by Give the niin couse of the following discases
1} L eukemia

1) Sickle - cell anacmia.

¢) State two reasons why blood clot formed on the surface of a cut would be usefy!
to the body, '
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b Lxplan the fate of glucose afier assimilalion

Cel)

A hiological washing detergent confaing enzyuies which removes staing like mucus and
o1l from cloties.

) Exphiin why boiling the clothes with detergent is fess likely to remove stain |
C ] mk)

by The figure shows the elfect of substance molecule concentration an the rate of reactions.
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i) ldentily the factor limiting rate of reaction at (). { | mk)

1) Explain the effect oF enzyme inhibitors on enzyme controlted reaction,

{2 mks)
¢} Differentiate between denlition and dental forimula. {1 ks
d) iy What is implantation, ¢ mk)

i1} State two roles of the placenta during pregnancy A -2 mks)

in Maize, yellow colour R is dominant over white colour. Describe how one would
establish whether a given sample of yellow maize is pure or hybrid show yvour working.
{ 4 mks)



by Braing ag

otving birth o bov or gir babies™ has no scientilic foundation.

¢) Nante two conditions caused by nop- disjunction in man.

SECTION B
Instructions

et squares exprain why the viesw that
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P2 miks)

{ 2 mhs)

Questions 6 is compuisory, and answer one of cither question 7 or 8.

0, The hormone Charionic Genadotrophin (HCG) is released {rom embryonic {issucs,
Study the tabiz belosw which shows changes in concentration in the biood of HCG and
progesterone during the first 36 weeks of pregnancy. ’

Time in weelss

Concentration of HCG {
arbitrary units)

Concentration of
Progesterone { arhitrary
units) '
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Winat {s the concent

ation of THOG and progesterone lo week 117

y

) Account for the concentration of HCG al
i Cebwks { 2 mks)
H] AL owoek 8 \( g ,iuii!-l)
i) 120 weeks ( 2 nks)
Ay Hive two reasons for coniinued increase of progesterone hormane in {he biood
througheut the 36 weeks period. { 2 1ks)
¢} Mame thiee other hormenes produced during the period of pregnancy. (3 mls)

[xplain the functivns of digestive juices in liuman
1) Distinguish between respiration and gaseons xchange .
i) Describe breathing mechanism i man

i) Explain Disalvantage of anaerobic respiration,

(20 miks)
( 2 mks)

(14 mks)

{4 miws)



